
KNITTING PATTERN

Nora
Dress

Design: Sys Fredens | Hobbii Design
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MATERIALS
1 ( 1, 1) skein of Twister, color 31

Circular needle US 8 (5 mm) - 31.5’’ (80 cm)
Circular needle US 1.5 (2.5 mm) - 15.7’’ (40 cm)

Stitch markers

YARN QUALITY
Twister, Hobbii

55 % cotton, 45 % acrylic
8.8 oz (250 g) = 1094 yds (1000 m)

GAUGE
19 sts x 24 rnds with needle US 8 (5 mm)
and two threads = 4’’ (10 cm)
30 sts x 36 rnds with needle US 1.5 (2.5
mm) and one thread = 4’’ (10 cm).

SIZES
2 (4, 6) years

MEASUREMENTS
Skirt, width: approx 15.7’’ (18.5’’, 19.7’’) / 40
(47, 50) cm
Yoke, width: approx 9.4’’ (11’’, 11.8’’) / 24 (28,
30) cm
Length, middle of the back: 20.1’’ (20.5’’, 20.9’’,
21.3’’) / 51 (52, 53, 54) cm

ABOUT THE PATTERN
The dress is worked bottom up. The skirt is
worked in stockinette stitch in the round with
two threads (use one thread from each end
of the skein). The yoke is worked with one
thread and with decreases.

HASHTAGS ON SOCIAL MEDIA
#hobbiidesign #hobbiinora

QUESTIONS
If you have any questions regarding this pattern, please feel free to email us at
support@hobbii.com
Please make sure to include the pattern's name and number.

Happy Crafting!
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Pattern

SKIRT
Co 152 (180, 192) sts on circular needle US 8 (5 mm) with two threads (1 thread from each
end of the skein).

Work stockinette stitch in the round until the work measures 12.2’’ (13.8’’, 16.5’’) / 31 (35, 42) cm.

YOKE
Change to circular needle US 1.5 (2.5 mm) and one thread
and work 2 rnds in stockinette stitch.
Place a marker on each side = side seams.

Armhole
K until 3 sts before the side seam, loosely bo 6 sts, k until 3 sts before the side seam, loosely
bo 6 sts.

Sleeves
Work until you reach the bo sts, co 50 (60, 66) sts, work until you reach the bo sts on the other
side, co 50 (60, 66) sts = 240 (288, 312) sts.
Place a marker at the middle of each sleeve.

Work 2 rnds in stockinette stitch and end 1 st before the marker on the next sleeve.

Decreases
Repeat *k2tog, k 18 (22, 24) sts* throughout the rnd = 12 decs.

NB From here, decrease with 1 st less between the decs on each dec rnd like this:

Size 2 years: Decrease on every 4th rnd until 120 sts remain.
Size 4 years: Alternate between decreasing on the 3th and 4th rnd until 120 sts remain.
Size 6 years: Alternate between decreasing on the 3th and 4th rnd until 132 sts remain.
All sizes: Bo knitwise very loosely.
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